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QUESTION 1

Which of the following is not a reason to use virtualization? 

A. Save money 

B. Improve system performance 

C. Save time 

D. Make disaster recovery easier 

Correct Answer: B 

 

QUESTION 2

A validation plan is a set of processes which prove that a project or a function of a platform has been configured
correctly and behaves as designed. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

When considering scalability, the VCSA is not as effective as the vCenter installed on a Windows platform. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

In which type of VLAN does adding and removing the VLAN tag occur at the virtual switch? 

A. Virtual switch tagging 

B. VLAN trunking 

C. Virtual guest tagging 

D. External switch tagging 

Correct Answer: C 
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QUESTION 5

You have a requirement to create a three-tiered application as part of a virtual machine\\'s design. The requirement
includes the ability to start up and shut down the tiers in a given order and to be able to ensure that the three-tiered
application gets the resources it needs. Which would be the best option? 

A. Put all the tiers in a resource pool and manage resources via the resource pool settings 

B. Create a vApp and place the three tiers in it. Configure the startup/shutdown options and configure resources via the
vApp 

C. Ensure that all three tiers are on the same vSwitch and use the ESXi host VM startup and shutdown options 

D. Manage the three tiers as three separate virtual machines 

Correct Answer: B 

Latest VCAP5-DCD Dumps VCAP5-DCD Exam
Questions

VCAP5-DCD Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest VCAP5-DCD Dumps | VCAP5-DCD Exam Questions | VCAP5-DCD Braindumps                               3 / 3

https://www.passapply.com/vcap5-dcd.html
https://www.passapply.com/vcap5-dcd.html
https://www.passapply.com/vcap5-dcd.html
https://www.passapply.com/vcap5-dcd.html
http://www.tcpdf.org
https://www.passapply.com/vcap5-dcd.html
https://www.passapply.com/vcap5-dcd.html
https://www.passapply.com/vcap5-dcd.html

